[image: ]
 
[bookmark: _GoBack][image: ]

image1.png
Use log, 3 ~ 1.5850 and log, 5 ~ 2.3219 to approximate the value of each
expression.

1.1og, 25 2.1log, 27

3.log, 2 4l0g, 3




image2.png
Solve each equation. Check your solutic

11.10g,( 27 = 31log;y x

13.1og, 5 + log, x = log, 60

15.1og; y — log, 8 = log; 1

17.logg 4 + 2 logy 5 = logy w

19.log, x + logyg (Bx - 5) = logy, 2

21.log, d + log, 3 =3

23.1ogy s + 2 log, 5= 0

25.1og, (n + 1) ~ log, (n —2) = 1





iy 150 1, 51 st o
e 2o
i amd

Solve cach equation. Check your solutic
1.logyy 27 = 3logy, x

18.log, 5+ log, x = log, 60

16.10g, ~ logy 8 = logy 1

1.log, 4 + 2og, 5 = logy 0

19.10g,p5 + gy 3s - 6) = logyy 2

logyd + logy 3= 3

logye + 2logy 5= 0

Blog,(n + D~ logy (- = 1



